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(KNOWING OUR NUMBERS)

o wat § gest W3 wizgaHed y=TE migAd ugsT ma feua)

« Tuar fi=s Sostt afefaa mifmret § d8 agar)

o HEEMT afezw fafmret aasr WiZ TasT fes €9 =93 &9 forer)
o niat &9 g@aT quaT)

o Tfega M= § 78 a6 ®eT gaet e Yidr Jaa7|

o [T waedt Afenm wig Yot @ sE-a e oig yErst & 293 g957

1.1 €U (Introduction)
fugstat mvrat f&g, vt Afew= 7% ay aoe 38 wéde We d9d of | vt §ust &
HAfgnr, wers a3, areT J13T W3 9791 d137 7| viAt Afawr=r fEe syfasr & 9y 9o of nig
fftnrst &8 wide goa faforret g9 ga of| fer sifoarfe &9, »ift gy fadtuz w2 use-
fewg o5 fegst Jua fafowr= <8 9 aoy =g=Td|
1.2 39 HE® U¥ (Few Basic terms)
* yig=a Afumr=T (Natural Numbers) : #RT »uE g9us 3 0T A= 1, 2, 3, 4.

o =93, mmmwﬂamaﬂ?aﬁWWWEwmwm
T 71 7 g% & gees €9 vge I, wt fegt Afunret a5 faree o7 fen w2t feost &

fares =&t Afimret 7 yfgse Afwr=t faor ae 91
o ufoBt W3 A I 22 yigza Afnr “17 J
o fart &t ufagsa ffowr 55 1 795 2 et ufgsa #fvmr yus T Fr=alt|
« Ag T I3t yfaza Afiur Age =at T
o yfgza Aftmret @ Ayg & wiads € »fue "N &% Sonfenr afer T
¢ wiE (Digits) : fart S Afimr § TorSe B AT ©F 79T 0,1,2,3,4,5,6,7,8,9 T
=T ov IF, fegt fa3t & wla faar wer 9
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1.3 AftmeT 81 3%&T  (Comparing Numbers)
& Aftmret & IwaT g9e 9¥, A J8 By umr e due gvaie U5
uar 1 : vae feSht arEehyt ifvmret &9 wiat o fare St gemae &4T T 3T wie wigt =St
Aftr &t g4t
UST 2 ¢ H99 =0 Afwwrer &g wiat & farest seae 9% 3%
(a) ¥5 uw I ufad ofg & gear aatar, faw A &5 ufasT »ig 5 =9, €0
At €31 3241t
(b) A9 ufod FE™s =8 ofg 5oHe 9 I UE UH I OF AES °% ofg ©F 3%aT
gaidt, 25 ofg =8 A 5T =it
() fem fedt & €% 3a w7l ufar 7o 3q €9 moaa HE =8 242 nig &7 s
e
(@ € F I Afimrst & gueT s few ot § At Suiar)
Gugas 1 U5 fedt Afipret &t 38T a9
(a) 235 n= 1023 (b) 47321 = 39874 (¢) 56398 M= 56412

745

(a) 235 fa= »fgr =&t Afedr T W 1023 99 »iar =8t Afedr T fer s famrer
et =@t At 25T I
few ==t Aftmm 1023, Aftmr 235 § =51 T

(b) 47321 f&a 5 nigr St Afpr T| @731 39874
30874 foq 5 wigt o Afwnr J) ! o -
g Hfywprat & O U 3 Ufa® »ig & I®ar a4 WA @y af fa feg 4 w3 3 95
MT 453
few ®ET 43721 , AfewT 39874 F 257 T | CE 1|

(c) 56398 foa 5 »fg™ = Afterr T 58@08 " 56@12

56412 < fr 5 wfar & Afewr I L !
wHt eye ot fa ¥F Ui § S ffimret € ufod 2 »ig ffg mirs o5 | 22 Afirst
56 3 Hg JObAT U5
St Aftpret €9 4F yH T IS wia Y- T8 T 5T 3 W 4 95 WT 34
ferw wet Aftowr 56308, Aftm 56412 F &1 T
Guaan 2 ;U5 fexinit Aty 29 A9 3 @81 wF A9 3 8 Aftr y=T a9 |
1903, 9301, 1930, 9031, 9310
Gy - TEShat aritr Afipr=t 1903, 9301, 1930, 9031, 9310 979 WiaT = @A™ A=t g% |
Wy g9 AfdT € U UH 3 ot ©F 3867 Fere|
v it fog U8y T ufos »ig 1 9 w2 ot Afpwret e 49 uw 3
ufasT »ia 9 |
AT F &< Afumm 1903 wF 1930 foF adt fga 0=t w3 rg 3 251 Aftwr 0301,
9031 W3 9310 fed gEt §<6ft v UF yH 3 g7 w3 I wig § Sy It fem sIH
'S ugee 77 fg 1903 A9 T &1 w3 9310 AF T =T After T
¥



1.3.1 Mg’ € AESIST &% s AftmieT @ 5257 (Making Different
numbers by shifting digits)

few 99 79, dae fan Aftwr & ofat § g mes 3 o7 ras @9 gew fdsr g
Seoas wet, fog Afiwr 327 B2 I ol wigr @ 'S 998 & ¢ Sy-=Y Aftmwret (AHT
327} 9= Aaw 7

fa<" : 327, 372, 237, 273, 732, 723

o fogt 6 Afmret o &t At A9 3 €31 W3 A9 3 &1 ffewr uer= FaeE 97

o T 2,3 93 5 & 29T @9 & 3 wET I At A Aferret faer wer woee
geri@e & dfaw a9

o WF 3,5,7 M 9 ©F F9F q99 =, 4 Hat Tt Ardtt Aae Afvmret fast oig voee
g@e & afaw a9 | fegt fed rg T &5t w3 Ay T &2 Afunr ol
1.3.2 OO @ M3 wWeer @i [Ascending (Increasing) and Descending (De-
creasing) order]|

<Oe g = wEg J At § A 3 81 3 A F =41 © g 99 feuem)

Wew g € weEY J : Wit § A I @51 I A9 F 821 © v &9 fauari
Gemges 3. Afaniet 653, 1135, 47629, 2546, 7320 § Sow g &4 fed
Gro) TS Afynret fE9 3 wigt =&t Aforr 79 3° £ Afodr T w3 5 wiar =@t
AfenT He 3 <37 Afteam 91
AY F gt Wit (653) T wamsT AT 1135 T, WaTgT 4 wiar of 3T Afipdr
2546 I w3 few T waET Aftprr 7320 T
few wet fiddmr Afiirar B 2oe @k 653, 1135, 2546, 7320, 47629 T
Gees 4. [a&T »igt € gooret &3, (€3 o »iat ot 293" a9d 4 »igt &t R 3 &5 mT

AT F &2t Aftr 5@
(a) 2,3,1,7 b 4,9.0,2
& C (@) fEFaE w2, 3,1,7

we Ag T ufost vt feost wiat § <o A wee g 25 fadte
suge gHfeg w3 : 1,2, 3,7

g= feost 83 wigt 3 921 4 »fgt &t 7z 3 231 Aftwr - 7321
g= feast 83 »fgt 3 52T 4 »igt &t 88 T 28 Afeerr = 1237

(b f&3 ar@ »iar: 4,9, 0,2

s g e feus 2=0.2.4.9

g=, fegst &3 »iat T wat 4 »iat & Az I @57 Aftedr = 9420
o=, feost €3 wfat T g2t 4 wigt & A9 3 221 Afanr = 2049

9



ATF fowrs F Gar 3t fev I 18 0249, T wiat =TT A ot T faQfy R
N frew e 98y T ufs s 2 O 3, wieEyEs &t 9| fem Bt 0249
fear 3 wigt =@t Afir T
Gewas 5. fan Fa via &t 2 o9 =95 dod 4 Miaf € AF 3 8¢ W3 AF 3 51 At 5@ |
(a) 5,2,8 M 7.0,2

Gy . (a) T a@wiE 52,8
soe gy feofeus '3 :2,5, 8
4 wigt &t St T ST A (Fq wig Toobes ) = 8852
(fgg rg 3 <0 »ifaz Ue =& #ia 8 § goofenr famr T)
4 »fgt &t &t 3 8¢ Al (ffe i goa@e ') = 2258
(fET 7w T we #ifgg is =& 2 § gaarfenr fapur @)

by f&3 arg »i=: 7,0, 2

s e ey '3 0,2, 7
Anvfgr St St T ISt A (Revi@ g eoee '3 = 7720
(e’ mg 2 2u wifaz vy =8 wla 7 & goorfenr famr 3)
4 wigh &t 8¢t 3 2<t "hewr (¥ »ig goor@s ) = 2007
(fe% mg 3 wie »ifag e =& »ig 0 § goofew fapwr 3, g 0 & A
3 4" U &4t IipdT AT AgeT)

1.3.3 AEsa HE MF wifag H& (Place value and Face value)

faw »ia w7 mavsg HE @ne Aavs '3 faggd ager d A fa »ifaz us e revs '3

faggg 5dT ager| fA= 9678 &9 nig 8 = »ifag UE 8 T fed 397 7,6,9 & wifaag HE
76,9

At 8 E"AO ST HE = 8x1=8§ (v 8, fearet € AEs T
Afynit 7 €7 A& HE 7 % 10 =70 (w7, e0dt € AES T
AfyniT 6 BT AOST W& 6x 100=600 (-6, Aad & AE™S 'F )
AfipT o ©F AEEE HE 9 x 1000=9000 (. 9, J9a ¥ AES T )
9678 & ferfzz gy e faus '3
96878 =9 x 1000 +6x 100 +7x 10+8x1
feT mime § fo o=t <t Aftpwr, 79 »fgt & FEag HET © §5 © S989 9ot J1
fai &t wig & REsa UE - »ifeT UG « FEs o S
wfe o7 FETsT HE gHETY 1,10,100,1000,10000, 100000............. T
ferr =t Fiftmr €9 0 ©F RIS HE 0 der g 5= few fan & s 3 39
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. .
g
e e
o Lrformre e
5Te9T | e wiat &% §FE| o .
fagg &9 fewe nape a2 /7'____: T, ff:/,*‘:ofw'a_:tfm \_\\
Sz (7 s G medt 9 /a7

§ETG | Hoaq ¥ F9T Fud feame, i {'f/ ‘“;ﬁ‘\ \ \V [ [ o WA \
AT, Re, THTd, ©F 99, 8Y ||1 1@))%, |||,I.|\\ L. . B
; L | & N / /]
s = N\ VRN o
gy EEwI e st fome N SNy /f/ ’

3 | fear dfewt § Jaat =t S e
giz ot #e Sug §gel

He &= fa 4¢ fasg <9 feue weme féa F=a

ge ot gt Al &t ug™E 9 Aaw 97

oF 79" @8 dad fegd afewt oF farsst o masw UE = 1% 10000

= 10000
AT % dag feus dfewt oF faest o masa Us = 2 x 1000 = 2000
Aag =% Jav =98 Sfew ©f farest o moaa HE = 4 % 100 = 400

ogEl @8 dod feud gfewt St farest o megsa e = 0x 10=0
fearet =% daq feg® Sfewr dt foreft e AEsa s =2x1=2
AfeT - 099 §¢ ¥ AEaT HE O 859

= 10,000 + 2,000 + 400 + 0 + 2

= 12402
e fow 5t ffe rEaa e 99 g=Ee|
2 kS EH T T Rear FEN feaer Fifeonr
o5 | fefodaadt Wl « | ez Wiag i | dfagde | oiasds |oifas WE | wEresa
&, | w=rat | 100000 s¢ 10000 » 1000 w100 | % 10 x| Wat o g3
B - _ 00,0004 20004400+
1 10000 2000 400 0 3 Bt e D
2
Svwes 6. UF wF Aaet €9 S Aftmret & fenfas gu f&W g
AP Afepur & &t fenfsz gv
27000 AT Od'g 2 % 10,000 + 7 x 1000
37600 AtoAe 8 | 3 x10000 + 7 x 1000 + 6 x 100
56740
69563
42639
29308
20005
19075
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1.4 Aftprret § ugs w3 feye & 93T Y&t (Reading and Writing

numbers in Indian system of Numeration)

ASIEST 2011 & WEAd, AT = Aonfesr Sagar € g9 A337 Y 9381 759
At | 39sT Hiwa {9 »Ht 9979, BY #3 g97 <99 AT ¥ YWdT doc J7 | fog Afinm Sus
& grast u=Et 9

I3t y=rEt &9, #AT Agsd HE ¥ #0093 AYT (I9Y) sTET o7 | faR fearetat,
e, BY, a7 »nfe w feost & wey fean () avdt 2y g3 77 Faer 31

o A UH T ufo® 3 wig fearet myo se@edr

o WIS 2 wid, THE T AYT TeATgSal|

o WIE 2 Wi, BY T AT ToAEETr|

o I 2 Wid, F9F € AYT TenEEdr mF fem 3.

fea ot Ao (a1gw) & wat w res & fedo of ufger wfer § (fearet € 9y & €5 9)

fem =%t 8,76,54,321 & wiAt “ »ig a9z fevzw By gowr ow9 35 W feat ugian

9 AYT T IoE MY fea (,) A St 3§F AWge fS9 Forfear geer 1
Gewes 7. U5 fedbet Afipwrst § uF)

(a) 534632 (b) 90763021
% L (a) O aet Afawr - 534632,
g T ufast AT R T 322 »iEh @ 919U 52T a MBY feay () arg|
few =&t, &3t ardt Afimr - 5,34,632
 fa T : Ui 8y 3 w9 & 7 g5t
(b) &1 aret Afumr = 90763021,
A Fufost AT UR 3 3222 vigt € aigy g7 F wisy e () marE
fem met, fogt aret Afiedr - 9,07.63.021
# fa ¥ & 999 A3 ®Y Igue gu9 foar
Guaes 8. U5 et Aftret § niat e fad)
(a) 99 &Y ¥51 0w & § 5939
(h) & 9% 39T By foat 99w & F w39

GroY : (a) W9 Y 8537 oad & § fad=ze
CEE By gag  fearEt
0 04 32 673
=4, 32, 673
(b) & TG99 Fo=d" &Y 6T o9 & F §I39
=f 53 21.972
Gvwas 9. 9745623 &9 7 € mEaa HE W »ifas HE €9 nisg usT 9|
G2 o fEEY ardt Afier = 9745623
7 € AEAS HS - 7,00,000
7 HfaI HE =7

Edfernigg 7 = 700000 - 7
= 699993
12



SuaEs 10, 4 »fgt TEt gF Gt At gu?

5 4 wigt oF 2T I <7 At = 9009
3 wfgt o 9T F T ffter - 999
4 nigt TEMT % Aftpdrat
- 4 WEt o =57 T =31 Afaw — 3 »fgt & 25 3 5T Afeer
= 9999 — 999
= 9000
GewEy 1. I @S Aese Y& Aeet 9 999 At & peet fEe faE)
CCES By aag feamet
& arE T o By 1S R Y T fagr  |eovt |feardt
10,00,00,000 | 1,00,00,000) (10,00,000) |(1,00,0000( (10,000} (1000) 100y |0 [
(i) 4 7 5 ] 0 2 9 8
{id) 7 K 0 5 1 0 2 4
a& i oS ardt Afiesr - 4,75,00,298
99 §9=F U939 8Y ¥ § #aTa=
i@ fEST aret After - 7,80,51,024
H3 dd= #iAt 8y feg=ar ga9 I<7
Seam 12, S arehy™ Aftpwret § Aeaa 4& AEeT & gU fEe uF )
(a) 593268 (b) 32067308
aw .
ECE) BY e fearet Afumret
ehasw |ge9 |eRmy | ®Y | Showe | owe | Haw | eot |fead
10,00,00,000 | 1,00,00,060] 14,3000 | 1,00,000 10,000 1,000 | 100 |1
UF 84 Igws aud
5 9 3 2 6 | 8 |EHAnEwe
3 |2 0 6 7 3 0o | 8 |95 gag =lv &y
A=e oae 3% A nis

1.5 HitpH™ BUE & »igdaHest Y&t (International system of Numeration)
fug® zar &9, it goat Aforr yerat a9 ufgsr 31 g wFt Aferr Bus &t
nigaaHed! U=Tsl o uztar 7 fa fens € famrerse weat 99 =a3t 7t 7| fom yast
R <t ot i 5 ot P 9 & ufspar T 1) A U 3 B 0@ 92 Afpiet &
3-3 & myt Fa & st fegt ot & foaret, owg, B wid faefboes Faa siter 31
foust Myt & 35 wgHT WSt @ Mt F & s 31
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Gvwes 13, wiwy feaw () &ar & 79530257 & fad)
(a) FIST Aftpyr BUS YSTHT MEAT
(b) wiggamHest At Bus y=st mag 79530257
5 : FIST HitpH™ BYs Y8 wigHd
7,95,30,257 (A2 9d= yua= 3y 17 aad € H AS=A")
wIggRedT AftHr BYus YyETET WEAd
79,530,257 (@& fi@inis A 7 Fio o99 €  Ag<An)
Guwes 14, T €51 neaa UE Aeet fSy festrt Afunrst § aaet fee fod)

fass fHss ad e fearet
" oq |fetws| W e | es| W #H | owe Hagr | oot | feardt
femivis |femins fmiw | imins g | IA9
2 3 4 1 2 9 8 3 4 fi
3 9 1 7 0 3 1 7
o5 : i) fEst andt Afwwr - 2, 341, 298, 346

v faetis 35 7 feaast etis € B vies= oae f3s A ferst
) &3t aret A - 39, 170, 317
===t fumhus ffa 7 A39 099 3% 7 Agar
o TET W nigd aEd Bus yeEl few T

Hf g9t Bus yeHt w39 IHeEt Bus yEHt
1 e fea

10 o i

100 feer 7 fea w
1000 fea aaa fea aama
10000 T a9d OH 999
100000 féa By féa ¥ o9a
1000000 oH By fea fustvs
10000000 fog sag on fiEhs
100000000 o J9F fea 7 fiumtis
1000000000 o ww e fashis

i4



10.
o

WS [ 11

. AF T &1 W3 Ag T < Aftpyr &9
(@) 30900, 30594, 30945, 30495 (b) 10092, 10029, 10209, 10920
I fedt Afanrer & <o gy 29 fah)
(a) 6089, 6095, 5231, 3953 (h) 49905, 6073, 38904, 7392

(c) 9801, 25751, 36501, 38302

ds fedmrt Afemret & wed gy <9 b

(a) 75003, 20051, 7600, 60632 (b) 2934, 2834, 667, 3289
(c) 1971, 45321, 88715, 92547

&3 are »igt &5 faat faw »ig & Sooe 4 wigh &t <51 3 <5 w3 & T &

AftpT U3 F91
@ 6,4,3,2 M) 9,7,0,3
€ 5403 (@ 3,2,7.1
faw fda »ig & Toar & 4 war & 51 T I I 8¢ T 221 Afver uzT T4
@ 2,3,7 b)) 50,3 © 2.3.0
d 1,34 €) 2,58 M 123
ds fefim™ & Aersa i Aest g= & fod)
(a) 638975 (b) 84321 (c) 29061058  (d) 60003608
. Sfag mas ‘T mwy fegy (,) € =93° w09 IaSt BYE UETET mawe By
(a) 98606873 () 7635172 (€} 89700057
(d) 89322602 (&) 4503217 ® 90032045
. Ffaz mara 2 sy feany () &t 293 g9d wiZawedt Bus yvEt wawd fad)
(a) 89832081 (b) 6543374 (€} 88976306
(d) 9860001 (€) 90032045 @ 4503217

5 fexdtr Afiwrer & wiar € gu <9 o

(1) WI BY goA™ T9T

(b) & g3 Igedv BY 939 gud Ud § JeT
() =& " A%t o9 UF 7 ULt

(d) g3 fehs &8s 7 93 oo g 7 gt
(&) wa=wr fiEts o9 F 35t w9, € R ©

6 I BY Fig Iw9 O

yrEt gt 34|
(@) fEa &Y = ... @9 TJEG
b fea fetid= . H T
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d) feq Fez e, THETHE
@ ffa fimE=s i, BY

1.6 ®9TEl, 379 W3 AHTET &9 Aftpwr=t (Numbers in Length, Weight
and Capacity)
(FaaT Ales fe9 Aftmret €t 293)

fuesgtu mrat i, nirt Wy St fearehnt fas S9et, 979 w3 mdeT o9 ug 99 a1

few 3var f€a wit Samar fareat < fesaras mifimret & freos € feast '3 fafeurret

gaaT fAyTET

« daEt ot Ustre &t §aret § Fehfies S8 son@e of v fa fan Uuw afsy &
Heet WU &t Aehites a3 €51 fearet 71 few &t it 221 fearet ©f =93 age ot few
3 fegrer fan foreg & Qe wue &t /g vited <9t I91 fegmet &=t d<ait wF 2
Hfget fewarast gdt Hue ®et dv & <51 feardt fadles & 83 u=afti

fre sfés™ »3 S5tz fesars et 230 fauft

"@HEE?_IE'E' 10 i Mt = 1HH
Vel 1 M. - 100 AW - 1000 firt,
1fadt. - 1000 AL - 1000000 it

o 39 : WHT IFET, WETd, BAS M3 T8 wiie § I8 SE WAl fa@ard =gait 3t
feardt & =93 "o of| u§g Wil T=ehdt ©f =93 fistery fEw gev ot
S 1 fadarm - 1000 W

1 ™ - 1000 fustary

o AHEET  wHT I £ uEt Wi ot 37 feRet »ievas W2 250-300 HEifseg =t
¥ Uz #¢ vt sule s uet & gt goe o 37 fen €9 sagar 20 T 25 feee uet
ger J1 "

%“—:?: 1 foea - 1000 first
W Syt fearetit &t mesT gest
A0

1 A0 V’—) r:;
Qﬁ =

L A0 ~ — o
A0 — mjfw Ty
* E : '
E :
£A0 - 70
fiet

1&



feng Tat faddt Jadet &% we &izr | Aeer 7

a5

l

ot FEE & ufdet 3w gt fust

S SR S N

fa®

dJae ECy Wiea/ FHT s | =t

Gvwes 15.

ami/ feea

get dos Aew Qileew § 5765 St fusht e fa §ne 338 feaut § 3427
St fustt| Aew Svtee, miue feadt 3 fashyt 22t & gaa &% fAfsw?

G A=s Site=g €8 yuz f2F = 5765
feadt Shite=e <8 yuz St = 3427
3T = 5765 - 3427
= 2338 S2F
Gvwes 14, faw mfas fe9 [ET naeT SwraT suer 7| viyga ot fg anit f§9 13 U 75
W FEET 11980 Gyt Budivt a5 | €F FFeT a8 faa US sue 987
Or.3 WHgTg = goa arut fEe UE - 13
1980 gt €9 uU& = 11980x13 = 1155740
[ 1980
x13
3594()
119800
155740
fem =€ 37&T 1,55,740 Us BUT 75|
Bewew 17. fam sased &% 48000 HzT 95| €0 fegst € foy ger § dyer ovger 0| fég
faw few ag0 wier & | f&& fan &% A Aaw T& 7
Gr) : a8 Het = 48000
feer fow f&9 wer &t faregdt = 480
faw &t farest = % Hier - fgq for &9 Fier = fasst
= 48000 = 480 100
= 100 faw 43&W
- 480
00
0
00
-0

ﬂ ‘
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Bewew 18, fam 935 &9 4 feeg 650 st =at 31 ferg 25 st e oF fa&

nr:3

i

=]

farsmt fe sfor A Faer O7
Tl =% §9=25 ©F AHAET = 4 feeg 650 fHst
= 4 x 1000 =t + 650fu=T [+ 1 f& = 1000 fr &

= 4000 fst + 650 fust

= 4650 fust 186

fefr am ©t AvdET = 25 firt 25 )a650(
o <t farest = et @ wrgar + T S A g
= 4650 frst + 256t _ 200

= 186 150

4 fazg 650 fumt wat & 25 et =8 9% 186 fammwr -150
f&a gfonm 77 "aeT 31 X

T 12

. d5 fafont wrut & S0 wigAT 528 |

(a) 5 fa@vted § vieg fev
(b) 35 fa@teT § Wiew f@w
() 2000 MEEMY & Iy fea
(d) 500 3¥eTH & arH <9
€ 2000 fy&t & foee f&o
0 12 faBited § Hiew e

. F= f¥T rew Sifvew § 6317 = Mt AE fa 338 feadt Sile=e & 3761

et st mes Svlesg & »mug feadt § fad =ug &% Tarfenm?

. f&x wdtsr=re aameT 7 fa 20 3y & =uer 4, € 37 U8 93 feo watd 23791

gritst & gurEr 98T ¥F a8 fdd UE g0 gt

. o5 germeg a% 37 fan o5 | e fow S99 480 det o5 w3 G0 29 &9 ¥/2 (Quire)

gger g 71 Fy eng €9 24 Hiet 95| A& vn3 5= A mae 957

. Fous Hiowst § 250 Bt mider % g (99 g0 fesT T 9N B fa

IISH WUST 8% AWGET 34 Fd 985 W3 98 5 B vu =93 feur famwr) fas

. Tyt & fdq gan @9 20 sy St 2,00,000 dEtyT oE ) gan 9

Fw B g% g9 &t 97

. &g ywag feadar & & © ufod o3 @ 8y yeT oae fegra< ungar o feadt

g1t v ga © gH 783 99 BY K3 H WaWe yn3at &t feadt it | o5t aefant
o d& fad=t feadt gt

. féq wage fade fust & oo 39 6978 S=F gordt 05w Enet fdfer 10,000

¥z se@e o U Gnd 99 fastyt 937 g @t =gt
18



9. gfoes g% ¥78592 951 €% #1234 =8 390 336 e o wgzqg fdgr A€

ydte= T gmie 8w &% faaT adt Iat s9ai?

10. fég g9=% &9 3 feed 650 &Y. =dt 1 25 M=, Avde =8 fad fammt faw

feng afeur 77 REer 37
1.7 wied M3 MgHS (Estimation and Approximation)

Afymrat &t v IaraT dies 29 vy =93 09 9 vt fe aig e e S Jer g
fa “gw fad?” Yz »irt wmm fare3t a9t Snst 31 it G =az fEg wioas Js @ fée
gt Gerggs & 39 '3 gl vy Snz & O @ fa a5 3t e fewro & mimany e arivs
I% w2 €7 600 femaatar = feds I 600 FomsT fea »fomar T Iwt wiowsT &t »wnw
f&o far=3t =0t =) sghwt nfadvt (% Ard wims UE She ©F w993 ot 3t mar 8
WMEHTET HE SFET Jf el geT J1

g o fafonr ardt fart Afipr € faadtaas & e

%

)

fa3e fea feu® wWgrma 2 Ul €8 3% (Inclined planes) 9276 | Hod &g 971 A feo fag &
= 3t feg A9 ' d8° 30 Fq wr w=ait| 31, 32, 33, 34 €T 55 © €OH € AU I
fsadtags ags '3 feo 30 5= 7T
43 ¢ g9 397 B <9 T 3 fev 40 I wr F=3it| I7= 35, 36, 37, 38, 39 € AF T
Tl & AES 39 faadiaas g9 '3 few 40 5= A=A
fomn 1: 95 @y feat ©f wse goa Toel @ Ags 3a [Gadiads &9 A Age |
A3t ot ¥ fagdiaes adt I8 fay fauyt &f yser ga:-
(a) Hag fearet @ ofg 5 F 2er 9, 3t fearet @ wiw & 0 5% g feb w3 gt v
Gn 3t afo= fef
(b) Ug Fee feardtevnig saf 5 I <973 I feadt 9w & 0 % 5u8 fe& w2

0¥ BE maEaS

v

'Y
=
=t

ig



w0 & wig § g = oG w3 ot »ig GF 37t afos foll
fawv 2: fsaetass ot Haa & Aas 3 siewr sarger|
338 Rad @ faadads &t ds fau faadt & s ae:-
(a) g TUEr O ofg 5 F EeT 7 3T TuvEt wF feart € ofat § 0 5% www oG w
Tt #iw 87t 3t 4t ofos =6
(b) HaT SUTE BTl 5 AT 5 F FFT T 3T wuret w3 fearet € wat § 0 5% gew el
w3 FaZ & A @ wd § fa 2o o w3 gat wier @7 397 sofe fef|

700 ¥ A% warEa

v

awé.ﬁém
feaw 3: fsadtaes ot ou9 @ AEs 3a »ioar sarge|
238 A = feadaes vt 96 fey faunt & yrser |9
(a) ¥ET RS T oiq 5 F 87 J 3T R, TUE WF feardt € wiat § 0 o v w6
w2 wat ofa Gt 397 9 afoe fog
(b) Hag Rag evnia 5 A 5 3 g7 J 3T Razr, vardt w3 feardt € wat § 0 5% 5T %
fe& wZ oo © ros =% ¥ § e =ur fe€ w2 wet v Gt 39t afoe o6

3000 F A SEEE
- | 1 1 | 1 | 1 1 | I |

s I 1 I | | | | I I I |
3000 3060 3200 3300 3400 S50 3800 aroo 800 3800 4000

v

1 " |

4000 F FE FaES
Geges 19. 36182 WT 36827 & fsaesy vowl, Had w3 oad 39 faadtaws a9|
is . feStyt ardhut Afanr=t 05 0 36182 M 36827
(i) wIEr T REs g9 fagdtads = 36180
oo & AETs 99 fsadtees = 36830
iy Wad @ AOs 39 faadaas = 36200
Haa & Aas 29 feadtags = 36800
(i) TJET © AES Fq fEadleds = 36000
Ia9 ¥ AE's 39 faadtags = 37000
1.7.1 79E®, #3d, TS MT TORS Td HoEr Harge (To estimate sum,
difference, product and guotient)
gUZ At Afagiut sifaatdt It 0% 39 WAt 9985, W39, IE5e% WT IORs
T3 wieaT Fanger ger 7| fant Afver e faw res 39 faadass a9 d, feg siafzmt
&t wges 2 fagee gowr 41 wg= =9 €9 Jue & guzr & &7 o€t & w2 ot =@ As
FIHT 9937 A% gter ger 7, 372 guIT v Uug we 32 few wet feust aiwt e fowrs
dyeT 593 #gdt J1 WG g% Qeradst ardt muEiE|
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Gemaea0.  fsadtags Tot 5290+17986 & Mawr Sarg|
(i) AaF & AEw 39 fsa2igas (i) 799 & Aes 39 fsasiaes

i5 : i) Aa2 & ngs 39 fsadass 995 'F =
5200 + 17986 = 5300 + 1R0O00
= 23300

(i) T¥d € AEs 39 feadlads a98 '3 -

5290 + 17986 = 5000 + 18000
= 23000
IHT »AS Aftnwret O 93 o9 = UHet ad Haw d fo 23300 fawmer 23 T,
few et fea wegyes 7
Gowes 21, 5673 - 436 € nfewr Zarg|
s . Twd © Aas 39 feadaes 998 '3
5673 & faadlags = 6000
436 u feadads = 0

wiergs WiZd = 6000
yg feg weayes fagdiaas adt J faGfa Wews nfze = Afunret 3 S387 J)
Adt feadlads &et, Wie Aas © AFS Sd faddiada ad o =4Iz |
5673 =T fsadtaaas = 5700
436 o7 fagdtaas = 400
wfeHs WiZd = 5700-400

= 5300
few waayss feadtass
Gomes 22, gIesew o sear sarg
(a) 87 x 313 (h) 898 x 785
(c) 63 x 182 () 81 x 479

fmadtaas = »my famne

Jod T &St wE =Et ifer § @R A 3 €2 e I feadiass g9 w2
feaetaes Buaz Afumr=t & grer ad|

G (a) 87 x 313
87 ¥ Tyt & wEE I feadEes = 90
313 ¥ A9= © AE'S 39 fEadiads = 300
HEHE ITEes = 90x300
= 27000

(b) &9E x TRS
898 ¥ Ae= € REs 39 faadems = 900
785 ©F A= © FES 39 fsadtaas = 800
WoHs deaed = 900 x 800
720000
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{c) 63 x 182
63 T TUTET ¥ A 39 faadtaes = 60
182 &' Has © Ag's 3 faadaas = 200

wews TSEeHB = 60 x 200
= 12000
(@ 81 x 479
81 ¥T ¥UTET ¥ AE's 29 faadiges = 80
479 @ B2 € gus 39 faadags = 500
HeHs IS68% = 80 x 500
= 40000

Gewaw 23, fagdiges € M f5oW €1 293 gav I¥ 2437 + 125 ©F gQES U™ &4 |
s 2437 + 125
2437 ¥ 999 ¥ AES 39 fagdtags = 2000
125 Wd= @ AUS 3 (aaelads = 100
wiewa Faes = 2000 + 100
=20

W0 | 13

1. faadtags & vy faay o =93 aga d5 fefint o s sard)
(8) 837 + 987 (b) 783 — 427 (©) 1391 + 2783
(d) 28292 — 21496
2. fsadtaes € v fawy &t =93 g9q Jo fsfimit o7 niews Ieaes U™ ad|
(1) 898 x 785 (b) 9% 795 (c) 87 x 317
(d) 9250 x 29
3. B3 € FaS € 7O 39 fsadiads dad »eds HE u3T a4

(a) 439 + 334 + 4317 (b) 108734 — 47599
4. TUTE T AES 39 fadads aod weTHT Jarg|
(a) 439 4334 + 4317 by 108734 — 47599

1.8 Hdaet ©f @33 (Use of Brackets)
gage a3t = fig var d o fa Afimr=t § fede duer O w3 aust § /T fave e
AOET T
() : "W ggae
() : udew sdae
[ 1 : =991 9dge/Hane 99ae/9an gaae
fe"® wirt »y goae o =93 99 9% 9ol
22



e e 88 ‘s 7S Az ST 4" % I
Hdae € =93 J9d WHI fSY Aae O = 4 = (3 + 7)
Hoae &% gt Geragst g5t et o)
Gumms 24, T & 9T g9v 3¢ I5 O aust mut fening fed w3 feg maw a9
(a) fE% w3 99 € A3es AT 5@ g
by & wF 99 A9CH O & &% a7
(¢) MET MI B © #i3d € U9 &6 €F
CI.] : {a) Tx(3+4) = Tx7=49
h) 9+4)x6= 13x6=78
) (18-6)+4=12+4=3
1.8.1 gadae" & YyAT (Expanding Brackets)
et € Y9 Bt 1y fe39e o= & =93 goal y=al| fe39e Ie wgAe gdae T
gTad SEMT /AT wied R gd9 uw (Afumm) € o fiig faar fees aedt 9 AR f
Jat i famr T
a(b+c) = ab+ac
afbc) = ab-ac
Gewas 25, ¥ T YymT F9 9% |

@ Tx(3+4) ) 9+4)x6 (c) (20-8)+4
7% : (@ 7Tx(3+4) =7x3+Tx4
= 2]+ 28
= 49
) O+4)x6 =9x6+4%x6
= 54 +24
= 78
) 20-8B)+4=(20+4)—(8+4)
=52
= 3
Evwws 26. WO TS|
{a) 8x107 ib) 14 x 108
a® : fa) 8x107 = 8x(100+7)
= 8x100+8x7
= 800 + 56
= 856

(b) 14x108 = (10 +4)x 108
= 10x 108 +4 = 108
= 10 % (100 + 8) + 4 % (100 + 8)
= 10x 100+ 1038+ 43100+ 4 %8
= 1000 + 80 + 400 + 32

= 1000 + 400 + &0 +32
= 1512
25



QT2 1.4 |

1. d& fefaout 5 g9 & Wow ad|
@ 13 x 104 b)) 102x 105 () 6 x 107
(dy 16x=x 106 (e} 201 x 205 ® 22 x 102
@ 6 x(4+3) M) (17-9x3 @ (20+4)+2
1.9 9H& Afy wid (Roman Numerals)

AT IS HI wiZgamedT Al y=sT 879 ufast 7t uz 99 a7 fig 39 After y=mst
T 7 fa ovw Bar €8 ==t argt w3 000 fey. F 300 feyu. 9 =93t At a0t 7 feo
yar3s oM &9 O €9 »ret ) ovs Al yerst €9 fan Afoar & senrBe 56t fres fast
o T SST 7 71 IWE Al y=Et &9 7 uE A9 9% 9 @ FY 4 A §
TN E HE 299 A% 5|

HE HaT | v X L & D M

foe et »iw yerst e 1 5 10 50 100 500 1000

o f&q wiy oosT feo & 7 fa s y=st @ fas dF »3 Gt @ fdgst o8 =

e TS|

fe Aftr Yt » St @t gret 3 =9t /et & A2 gost adtE & ¥rae (AW VI

wfe) wat €9 i, fagw € fOF fefsoime wesr vene wet fa= feme 4o - 1. feme

Ha-T1 wifel
g}:"f: fire wadt Aftur y=rat & =93 712 793 0 B8t s wig y=at <o adt
N Aa3 &dt T

fegt 7 Aa3T € =93 ged wirt fart <t Afteur & foy mae of, fAm set 35 fad famt
fours gy wgdt 91

famw 1 : &8t a3 st =9 goofowr afer 3, 61 o9 Ot ferer Uz gaer #fer 31

Geges s8I = l+1=2
AN = 10+ 10+ 10=30
CC = 100+ 100 =200

fig feo foys S dardfa fas 1, X, C, M ast =t 3 3 20 979 541 g90'2 & Haw w3
V, L, D aet =t =df Taae #|

s 2 faR S s T8 e g F ane B w2 s o s vigd G So 93
e 31

Guas & VI = 5+1=b
VI = 5+1+1=7
XTI = 104+1+1+1=13
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XVII W+5+1+1=17
LXXV = 504+410+10+5=75
famy 3 fai <7 ¥E =% s sla T ufost wirle T8 82 HE & 3s »ia 87 S5 wefeonr
H&Er 71
Gewws e IV §—1=4
X = 16-1=9
XL = 50-10=40
XC = 100-10=90
fa 4 FEZ V, L, W3 D aet &t €3 48 T8 918 »ig © ¥F U &4d1 {8y ¥ 75, 912
V, L, D & a=t &t werfenr adf wtar)
1 @ x @® ¢ O ™
o LX C§ fanmer Wg @@ fag 3 ufos fsfmr arreer d 9= 1, X, C§ S8 18
=% e g €9 werfonr 7 Fa=T 91
o L X CF Qs T #E® 2 5 45 o 9w wiar feg ot werfewr ar raer 71
F= 1§ Vw3 X &8 ot wefenr 7 Aaer 3
X & L2 C & ot werfen 7 Heer 71
C & D w3z M €5 dt werfemr & merer 31
e V,L,Dg aet S ot werfewr 7ier)
fami 5: FEE fEq we HE T8 s »id T HS T8 oHs wigr © fegae srder § 37 feo
wyE I avie wle o8 €0 U5 8 Ivs wier fed wefenwr afer T
Guwes B XIX = X+IX=10+(10-1)=19
LXIV = L+X+IV=50+10+(5-1)=04
fam 6 ‘AEg »At avs »ig Gue ¥ Serer AT I 37 1000 &% =T T A=ar|
Geges B @y = 5000, x = 10000
g, fegat fao €t 293 fawqT &t =93 a9a ov Afinret fadte
= I
= I
= i
5-1 = 1v(faQfa 1§ f3s 3 <u =79 &J7 Toofonr 97 FawT)
v
VI
VI
VIII

10-1 = 1X (fagfa 1§ f3a 3 <0 =@ &dt gaarfenT 77 Agen)
X

10+10= XX

i

e A e = < = N -+ L W, B — Sl L Y 5
(== =
Y { I | Y| O | S || ]




30 =10+10+10 = XXX
40 = 50-10 = XL (fa@fa X & fds 3 <0 =9 &7 goarfonr
45 = 40+5 = XLV " Age)
49 = 40+9 = XLIX (fen & 50 - 1= IL &t fafpr ar maer faGfa
50 = L 15 L f= &t wefewr ar maer| 1§V
60 = 50+ 10 = IX wMIFX & wofew 7 pger O
70 = 50+10+10 = LXX
80 =50+10+ 10+ 10 = LXXX
90 = 100- 10 = XC
100 = 5
400 = 500-100 = €D
500 = D
900 = 1000-100 = CM
1000 = M
Gewas 27. Us ey [E9 faua »ia nigevle a5
(a) XXXX  (h) LXIX (¢ VL. (@LIV  (e) IL
% (a) XXXX

fa@fa X § 3 3 2o o9 &7 fafpsr 7 maer few B feu nEgdle 71
b) LXIX=ILX +IX=60+9=6(9
feg neEuEs T
{e) VL
fa@fa v & aet =t werfewr =gt 77 FaeT|
fen =¥t VL wEEdts
(d LIV=L+IV=50+4=54
few ®€t LIV wgayas T
ey IL
1% frge v w3 X feF wefenr a7 raer 3, L foF a0t
fen =&t feg woedt= T

Sumey 28. I5 fedty 9Ws At & 0 wiadt yest g BT

{a) LXXI (by CXLV (c) CCXLI

(d) CLXVIT (e) MCCXLI

(a) LXXI=L+X+X+I=50+10+104+1=71

M) CXIV=C+XL+V=100+40+5=145

(¢) CCXLII=C+C+XL+1I=100+ 100+40+2=242
26



Gvwes 29.

(d) CLXVII=C+L+X+VII=100+30+10+7=167

() MCCXII=M+CC+XL+1=1000+200+40+1=1241
5 et § e #fir y=at nigaa foe

(a) 49 (h) 82 (c) 198

(dy 541 {e) 826

fa) 49 = 40+9=XLIX

by B2 = 50+3042 =LXXXII

fc) 198 = 100+ 90 + 8= CXCVII

(d 541 = 3500+40+ 1 =DXLI

(e) 826 = 500+ 300 + 20+ 6 =DCCCXXVI

W0 [ 15

1. d5 f=hpy 29 fags »eads oa?

(a)
(d)

IC (b) VD (@) XCVII
Ve (&) XM

2. 6 fodtut s Afaret & fiv wedt yerst wawrs fad

(a)
(e)
(1)

XXV by XLV (c) LXXIX (dy XCIX
CLXIV () DCLXT (g) DLXIX  (h) DCCLXVI
CDXXXVIT  (j) MCCXIVT

3. 5 faftodt § aus Aftw y=m=T wigne f&y|

(@ 29 by 63 (c) 94 (d) 99
() 156 (H 293 (g) 472 (h) 638
@ 1458 ) 948 (k) 199 ) 499
(m) 699 (m 299 (0) 999 (p) 1000
o Go-lcasul yas o
1. wfgt &t faesdt L T
@y 9 (b) 10 ¢y & (d) wdI

2. 1,52,9 & fq 0 a3 d 8521 4 wigr & @51 T <31 Afunr T

(a)

9215 (b) 9512 (€} 3912 (d) 9521
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10.

11.

12.

13.

14,

15.

16.

17.

18.

2,0,3,7 & foq =9 =9z o w=% 4 »igt & ¢ F & Ao T
(a) 0237 (b) 2037 (€ 7320 (&) 7023

. do fefont £ faod <ue gu K9 o=7

@ 217.271, 127, 721 (b) 217,127, 721, 271
(€ 127.217.271.721 d 721,271, 217, 127
. 23408 &9 »ig 4 o wifaz WE & 37

@y 4 (b) 400 (c) 40 (d) 468
4123 €59 »fg 2 o mosy Us &t g2ar7

@@ 23 (b) 2 © 20 (d) 200
76542 f&9 »ig 5 € AaTsa W »ffag Us v nigg ot 97
(a) 537 (b) 45 €y 0 (d) 495

. 310000 +3x 100 +2% 10+ 2 =...........

(@ 5322 (b)) 53022 (¢) 50322 (&) 53202

, T BT IEE BE A UAT = e

(a) 42351 (b) 402351 (c) 420351 (d) 4002351

4 wigt =BT g5 faatt A= 57

(m) 9999  (b) 9900 () 9000  (d) 9990
(a) 172454 (by 170024054

(€) 170240054 (dy 17024054

1 83T = i, fisis

@ 1 by 10 (c) 100 (d) 1000
7213 € gHd © AES 3o fsadigds

(a) 7200  (b) 7000 (€ 7210 (@ 7213
45553 ¥ H & AaTs 3 faadtads
(a) 45500 (b) 45550  (c) 45600 (d) 45650

O-4)x6=....

(@) 30 (by 54 ) 78 (d 64
I fafiput fee faner s yest f&g faz =49t 97

@ o0 (b) 1 () 10 (dy 1000
@ 5 (b) 8 ) 9 d 7

is feyg S5 &t weadts 97

(@) LXIX (b} XC ) IL (dy LI
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19. CLXVI=......

(a) 164 (by 144 (c) 176 (d) 166
20. XCIX + XINVT=

(a) CVL (b) CLV () CXIV (d) CXLIV

fer mifonfe € yaa3T @ amie, [Efemmast:

o A=t § 3931 W wizvgEed YSTET vigne ug W fey rasar|

o dEET HiEs S99 afesa mifimrst % a9 Aae 75|

« THitpret Gug Yest fafen=t a9 rEe 95 WF T Aies 99 <t =93 raw 95|
» Hitmir=t @ nur €9 2887 99 Aae 05|

o aifez T mif=T & 98 J9° AW 5dee BT UHdl o9 Age 95 |

o T wedt vig yoat € 578-5'8 IHG Ha YSTET T yWdr a9 Aae 95 |

L] G Towes %
™ 1.1
l. (w) HIF T &T= 30495 () AF T &< = 10029
Ag 3 SF1= 30945 A 3 =37 = 10920

2. (a) 3953, 5231, 6089, 6098 3. (a) 75003, 60632, 20051, 7600

(by 6073, 7392, 49905, 58904 (b) 3289, 2934, 2834, 667

() 9801, 25751, 36501, 38802 (c) 92547, 88715, 45321, 1971
4. (a) 6432, 2346 (b)  9730. 3079

(c) 5430, 3045 (dy 7321, 1237
5. (@) 7732,2237 (b) 5530, 3005

(€) 3320, 2003 (d) 4431, 1134

(e} 8852, 2258 (f 3321, 1123

6. (a) = BY wadl a9 & § Ug3q
(b) TIHT o99 f3& 7 fat
(c) € F9T 39 ¥y fTaos T9T weeAr
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9.

10.
I1.

'-a-I!-l

d) madsfEsoae & /A nis

(a) 9,86,06,873

& @9z fewmdt B8y & oag wis 7 fEa39

by 76,35,172

feggd 8y Ut ouw fg 7 5939

() 8.97,00057

W& 992 AT 8y AI=qT

) 8,93.22,602

HE TS IT5S SYHETOAg ER &

() 45,03.217

UIat 84 f3s g9 € /§ At

@  9,00,32.045

& dd=g g3 gu9 yITEt

(a) 89,832,081

Gaas ehus wis | 931 ga9 feamiHt

(b) 6,543,374

= HEE Ua B 9=vst oo 25 ® 9939

() 88,976,306

woH Hehs & Afedseaw fas i e

(d) 9,860,001

& Wevis wis ’ Hs owe fEa

(e) 90,032,045

a4 fists Ust oug Uast

® 4503217

9 fughwa UA | 35 oad € A Aagh
(a)  7,54,000 (b) 9,53,74,523 (c) 647,525
dy 72,332, 112 (e} 58,423,202 h 23,30,010
SO000000
(a) ¥H (by =W (c) ©F
(d =H (e) ®¥H
g™ 1.2
(a) 5000 (b} 35000 (¢) 20
@ 30 (€ 2 (f) 12000
2356 3. 880267 4. 740 5. 20
686659 8. 3022 9, 30466  10. 146

S0

6. 4 fa@ard



B OB R e
a & @&

[ 2]

fad

(1)
{6}
(11)
(16)

(a) 1800 (b)
(@ 720000 (b
(a) 5000 (b}
(a) 5090 (b)
(a) 1352 (b}
(h 2244 (&)
a, b d e

(a) 25 (b)
(e) 164 (D
(M 438 i)
(a) XXIX (b)
(H CCXCINT (g
) CMXLVII (k)
() CMXCIX (p)
b 2y d

c (7) d

d (12) b

a a7 d

gy 1.3

400 (¢} 4000
8000 (c) 27000
61100

61130
s 1.4
10710 (c) 642
42 (hy 24
mfenm 1.5
45 (c) 79
662 () 569
1246
LXIIT (e} XCIV

CDLXXIT () DCXXXVII

(d)
(d)

(d)

(@
()

(d)

CXCIX (I CDXCIX

M
y-feasut yas
(3) b 4 ¢
(8) ¢ M b
(13) b (14) ¢
(18) ¢ (19) d

2

31

10000
270000

1696 () 41205
12

99
766

XCIX () CLVI
(i) MCDLVIT
(m) DCXCIX () CCXCIX

(5)

(10
(15)
(200
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